1.5 Algebraic Properties of Limits : m
Calculus \SD l“-t\m5

[ Use the table for each problem to find the given limits.
1.

lim f(x) = 4 Jim_f(x) =2 limg(x) =1 Jlim g(x) =5
a. lim(2f(x) +g(—x)) b lim (£2) = |_S
x—3 x—-3 \f(-x)/ =
a4+ S |
13
2,
lim f(x) = —1 lim f(x) = 6 lim f(x) =2 Jim f0o) = -
o im(ren-r () wom(7): & =[x
A - 6
-4
| Use the graph for each problem to find the given limits.
3. 4.
N !
NATN A1 _
5 —4 —3 3 1:.7/4'5 _._}[_; 2
Graph of ¥ o Graphof f
Cim () = Liwm = Cn L _[Does
» Imfrm)- L §6) =] 3 o Jim, (7)) = Lim §) = P8 et
b lim f(F(x) = "?5?55(7') =~ b lim £(F() = Ui §(x)=| L
| Use the table for each problem to find the given limits.
5.
f(1)=4 lim f(x) = -
g(1) =-2 limg(x) =3
h(1) = -3 lim h(x) =6
a. llm((f(x)) —h(x)) g(1) b. f(1)+jlci_.n}(—g(x))
-6 -6 bt (-3))
-9 1 B




f2)=7 Tim (0 = 2
g(-2)=1 Jt,l_i.Illzg(Jr) =—1
h(-2) = —4 JlL_I_i'rP2 h(x)=-3

a. lim (h()(2f()) + h(-2)

G

b. f(=2) lim (g(x) - h(x))

?-E—t--‘s)

-6 70y =14
| Use the piecewise functions to find the given values.
5—x, x < —4 ~|xl, xs-5
7. 9(x)={x?-5 —-4<x<?2 8.h(x)={20—12, -5<x<3
X — 3' x= 2 4x — 1, >3
a. lim g(x) = b. lim g(x) = a. lim h(x)= b. lim h(x) = [_ 5
@)-5=|-| (-5 = )] 20-(5)=[-5
c. g(2) = d. lim_g(x) = c. h(3) =; d. lim_h(x) =
-3 =l a0~ o akoml ~ f
33| TEm-Bd3 (1= -5l = [-5
e. _JLT+ g(x) = £ L’-rg g(x) = e. xllr}l* h(x) i f P_r_!; h(x) “
(1\_3: _\ _‘ LHQ"\ - “
g. lim g(x) = h. g(—4) = g h(-5) = h. lim A(x) =
x——4 5 _— _l-s\ = _5 -
Doe,',! ot f-'ﬂ—s = 1 b o= (3)=| \|
exist
9. w(8) Sing' e:nz s X<t
. W =4cosf, m<@<2m o xx
tan@, 6>2n 10. f()=9 2%, -—2<x<0
x? -4, x=0
a. I]_i.ll}rlh w(f) = b. w(m) = a. _rl_if‘_lz f(x) = b. x!_iﬂ}!_f(l’) =
i - 5!(\ m= ] /kl J— - !
s (1) =/ O (n) L =4
c. lim w(8)= d. lim_w(6) = c. lim, f(x)= d. lim f(x) =
XN 1 x—=2n -1 +-. l
cos(m) 7 -| cos (am) 3 | X =F 74| | Does not exist
e. limw(@) = £ lim w(6) = e. lim f(x) = £ lim f(x) =
Does net exist tepWz o || X=|l o-4 =4
g lim w(8) = h. w(2m) = g f(-2)= h. f(0) =
x—=2In 4_ I [ i N o -q
Does not exst Does not st L =F 14 d -4




1.5 Algebraic Properties of Limits Test Prep

11. If f is a continuous function such that f(3) = 7, which of the following statements must be true?

(A) lim f(3x) =9 (B) lim f(2x) = 14 ©) lim &3 _ 4
ol x—3 x—3 -3

(D) lim F(x?) = 49 @ lim(7(0)’ - 49 E

12, If f(x) = :“13”; gz: = i, then lim £(x) is F
L | ?
i7" 3T = ba?) .

(A) In9 (B) In27 (C) 3In3 (D) 3+In3

-8y 922 iy
) E
(A2 = 4 lad

Ladz Yo a)  Felse

(A) In2 (B) In8 (C) In16 (D) 4



